pull of P, [ pull of goverp parameter

Ties )
ev * 1301
_ onstant 0, _
10 01 N R e%pa & g 10 1

y TIes - Bé
x
0

1072 1072

1073 i 107

1gma

ean 0
i Bey 1
onstant 0
ean ;

o < o
T [ : T 15
. 1-5:r".:_"':1' A =
1_-.. e :
0B e A 0 2 A B 10 10864 20 2 4 6 810
Eg%g[EE§E$$EEE¥EHHLeSS |
[ pull of @parameter | [ pull of 6 parameter |
— e -0
10 LR s 10
102F 107%F
s b 10°

10

1.1

Ratio
Ratio

[y
IRALLILARAI]

0.9
08

—420246810

L
o

| U

]

—.L086420246é10

| pull of dxy parameter | pull of dz parameter

107}

1072

N
onstant
Mean
iMa

Ratio
Ratio

B R A R R S S R ) 8086 =4 =2 0 2 4 6 8 10

|
P



	Contents
	Page 1


